Day 1.9 Warm-Up

1. Consider separate 100.0 gram samples of each of the following: H,0, N2O, CsHgO,, CO,. Rank
them from greatest to least number of oxygen atoms.
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Na(g) + 3 Ha(g) = 2 NH;s(g)

2. Nitrogen gas reacts with hydrogen gas to produce gaseous ammonia according to the equation
above. Nitrogen gas and hydrogen gas were combined in an evacuated container and allowed
to react. The initial amounts of each reactant are shown in the container below.
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(a) What is the limiting reactant? 1S hm ¢ ¢
ltwas completely con§ir Hhe limiting feacktany because

(b) How many moles of product are formed?
& may Nit3
(c) Sketch a particulate drawing to depict the amount of each species present in the
container at the completion of the reaction.
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